 (
Tristan has $1,075 in his savings. He wants to go to space camp
for $599 and basketball camp for $250. Is it reasonable to say that Tristan will have about $500 left after he pays for camp?
) (
Reteach
) (
Work backward to check for reasonableness.
$226 + $849 = $1,075
) (
Step 4
Check
) (
First add the costs of the camps:
 
$599
+ $250
Subtract the cost of the camps from the amount Tristan started with.
To find what is left: $1,075 
–
 $849 = $226
So, $500 is not a reasonable estimate.
) (
Step 3
Solve
) (
When you read the problem to find out what information you know, circle key facts or words
You will add to find the total amount of money Tristan spends. Then you will subtract to see how much money he has left.
) (
Step 2
Plan
) (
What do you know?
• You know Tristan has $1,07
5.
• You know Tristan will spend $599 and $250.
What do you need to find?
• You need to find out how much money
Tristan will have left.
) (
Step 1
Understand
) (
Grade 3
 
•
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) (
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) (
and underline what you need to find out.
) (
Use this exercise to learn more about reasonable estimates and
answers.
) (
When solving a problem, you should check to make sure that
your answer is reasonable.
) (
Problem Solving: Reasonable Answers
) (
Lesson 9
) (
Name
 
 
Date
 
)
 (
Mrs. Connolly hid 115 prizes around the school. She put 80
prizes inside the building and 35 outside on the playground. Her students have found 67 prizes inside and 18 prizes on the playground. How many total prizes do students still need to find? Is there a greater number of prizes still to be found inside or outside the building?
There are still
 
 
prizes to be found.
) (
Find the Error: 
Elaine jumped rope 175 times without
missing, and Trevor jumped rope 10 fewer times than Elaine, without missing. Claire jumped rope 182 times without missing, and Zane jumped rope 153 times without missing. Claire said she and Zane had a higher total number of jumps than Elaine and Trevor. Here is how Claire solved the problem:
Elaine and Trevor: 175 
–
 10 = 165
Claire and Zane: 182 + 153 = 335
) (
The animal shelter has space for 800 animals. There were
already 468 animals at the shelter. After a storm, 192 more animals were rescued and brought to the shelter. Is it reasonable to say the shelter has room for about 100 more animals? Explain.
) (
Reteach
) (
Grade 3
 
•
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) (
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) (
There is a greater number of prizes still to be found
 
) (
How do you know your answer is reasonable?
) (
3.
) (
2.
) (
There is room for
 
 
more animals at the shelter.
) (
Is 100 a reasonable estimate?
 
) (
1.
) (
Solve. Use the 
reasonable answers 
strategy.
) (
Problem Solving: Reasonable Answers (continued)
) (
Lesson 9
) (
Name
 
 
Date
 
)
